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g'::it(:tllns of ‘:::t\tisp:t:::;:‘:.':;H‘m_.,. of 1 mark each, Se t.iun-lt comprises of 6

‘luosiin:) oMy - fact, L‘.:;liull'c comprises of 8 qwsu.(ms ‘! 3 mm.k seachand
Sa 3 e { 4 marks each. Section E comprises of two

(iti) ]
A 1ere iy Ym0 questions © .
(V) Usegp . O 0ve ke g, T4 « 1+ of 4 marks from Open Text theme,
% O Caly g M ey h and 1 questio™

r iS Co,

qm.qiunﬁ divided into five sections A, B, C 1) and

ot
Qu e g pernliucd.
¢stion Numbeyg 1

Cost of 5 pen i MAD“C“‘T\ SECTION-A

€quation in tyq ang . oy
. var d € mark each. . o : ;
(F;lnd a point on xf’”ﬁible. hay timeg fhe cost of @ pencil. Express this situation as a linear 1
onstruct an acy Whi . ,
The edge of 5 solidtiuahng{e em,;;h'ch Qraph of linear equation 2 =1- 5y will pass.
- tm, ;aw its bisector. be formed from this cube ? 1
Question Numberg 5 W many cubes of 2 cm edge can be form :
: 3 to |ON-B
EI:; Eez‘\lg)l;en figure, Pis a i two markss:;c;
)= ar (AABP)_ Ny poimm the diagonal AC of the parallelogram ABCD. Show that 2
| €
0
T P A
e Biven figure, o Circles ; B
: D Itersect at P and C, If ZBAD=85", find x and . 2
BSY o
y
%‘:ﬂsh'uct £POY =3¢, using compags and ruler 2
'evolume lnf'at:oneWi*th¢:irculm-};,alsei5216 - If the b dlies is 9 cm. then frd Hhe: 2
height of the cone. wcmd, e base radius is 9 cm, then fin
A d- - . . :
- 15 rolled 250 times and its outcomes are recorded as below : 2

Outcome 1 2 3 4 |5 |p
Frequency |40 [45 |35 |38 52 |40
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Fmdl;hc Probability of getting :
1 . ’

an even number

(ii) A multy 3 e ;
10 ipleof 3 ntaining ! & weigh
A Store stocked some ba gs of wheat flourt "nl.f 1 7,509 00, 4.98. s of MTour (ip k
;'-9" 3.05.5.08, 485, 5.1, 5.03, 5,00, 506, 3'[':3*;—; chosen At rndom ¢q e 3
Ind the probability o f these DAB S my
i that any one © re =
flour. Zraen g c than 3 kg of
secTioN”
Question numbers 11 to 18 carry three marks each.
3, - 1) iS on i
11 Draw the graphof 3x -4y -13=0. Check “'h{;nﬂ‘eél(lmam Says :29 ling or not.
12 RlGaurnam & Akhthar have some money Wih UCPe iy you. Repe. “Hhihar, if o b i
40, my money wil be three times the moneyns for this quation " this s uation i IiTrea ’
r

equation in two variables. Also find two solutio d compasses, Obtain ali
ne se

13 Draw a |i \B= and by ruler an
v a line segment AB=12 cm Yy gment of length 3

1 .
i AB. Write steps of construction.

_point are incp
If two chords of a circle with a common end-po Clineg
through this common end point, prove tha

duced j
15 PQRTS is a pentagon. A line through T meets QR PO U such that SR | UT.sh
ar (PSUQ) =ar (PQRTS). -oNow that 3

tthe chords areequay U2l 10 the digmerer

5 :
16 A hemispherical bowl made of brass has inner diameter 0.105 Find the cost of B et
i on the inside at the rate of ¥ 16 per 100 cnv’. "platingit 3

7@3'1]18 Flecnﬁdt\gfltof twen 11ouseholds&;a locality are as follows -
NN e o T CYy) () ' P 3
‘3?5, 315, 535, 275, &85, “n,,1035r,¥;1'7, $07,750, 5,350,417, 4 2, 375, og ﬁj g?a 615{;%5

 Construct a frequency distribution table with class size 100.

18 The average weight of A, B and Cis 45 kg. If the average
of Band C be 43 kg, find the weight of B.

weight of A and B be 40 kgand that 3

SECTION-D |
Question numbers 19 to 28 carry four marks each.

19 Draw the graphs of the following equations on the same graph sheet :
x—y=0,x+y=0,y+5=0. Also, find the area enclosed between these lines.

20 A lending library has a fixed charge for the first three days and an additional
da}: thereafter. Neeru paid ¥ 21 for a book kept for five day
satisfies this data. Also draw the graph for the equation,

21 Construct a triangle ABC, given base AC=7 cm and sum of two other s =
e o 0 other sides AB+BC=8.6 cm and base 4

AB(ED is a parallelogram. X is the mid point of ABand Y is the mid-point of CD, Show that 4

AYCXis a parallelogram and find the ratio ar(AXCY): ar(ABCD).

4

_ charge for each 4
's. Write a linear equation which

22
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3 Prove that a

by itatan
24 A steel cq,

gle g

Y Poin o, ub“!nd ; le subtended
e . yble the angle s

Mpany 5 the Fam : by an arc of a circle at the centre is do 8

5 gl aj 5
diameter ang 45 @ st anl”?, part of the circle.

nkofd2m 4
m |1‘-‘ieht Fin, 4 Straps for making a closed cy

lindrical petrol storage ta

i 1 asted, then how
much steg Was acCtually S curved surface area. If 7y of the steel was w
Sp

25 A roller 1 =
10 cm Makiy by company ? (Use 7= — )
revolutiong, Det!:nmng has fag e ’

. Al |
mefre, "Mine the

The cost of ;
Papering y,
and the cost of . € wallg of _ 2.
" Matling g fis: :‘le room 12 m long at the rat;:'of Rs. 1.35 pef*rz ﬂ:15 issfi?tzg
7 Acompany selected 4 "the rate of 85 paisa per m” is Rs. 91.80. Find the height 0
between income 0 famjj;

iug of 35 em. To level the playground it takes 980 complete

Q o .
- i 1@Velling the playground at the rate of 75 paisa per square

! level 5 ilies {etermine a relationship 4
in the ta “reland he Tandom and surveyed them to dete -
ble belgy: ny of vehicles in @ home.The information gathered is listed
[ Monthly
anthly [ Vehidios o
: ehig
ess than 7000 | 15—
Above 2
7000 -10000 0 BT pppat 8 0 =
1000013000 | 305 5 2
1300016000 | 5 >33 39 1
16000 or more |1 '329 29 2
Ifa family is chosen atrandom 279 82 =

W s a g r -\_\\-‘-—-‘_—A-_-
m eamEng 210000 13000 cl:(:nlhe Probability that the family is:
E: :)} nwn_mg not more than one vehie e N e
1
e earmng_more than ¥ 16000 and Oe i i
) not having any vehicla gk o o £ ekl
S S

H Draw a histogram

Number 156-159 [ 159-162 | 162-165 |165-168
students 8 14 9 ;
)

SECTION-E Open Text)

tof the given theme js supplied with thi i
: : : pplied with this question =
Theme : Quadrilateral ip Architecture, WAH TAJ. Lo

(* Please ensure that open fex
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I in the parallelogra . .
Paraﬂelot‘raml #ogram ABCD (see figure) 28 and ZC are in the rarig 3. 7, then find all angles of
30
t 3
-~
e ihy
A < R 2
- & \.:-:Fj!—-""“‘ﬂl:lhn i 2
LR R = el
~ o s R o — fo
(o L
o — A L] =
B‘ ‘}. _:I
B fi
"N
ABCD is 2 parallelogram (see figure). AM and BN are respectively perpendicular from A and B to DC
and DC produced. Prove that AM=BN,
31 :

Show that in the given figure of triangle ABC, if mid-points of sides AB, BC and AC are joined, then
triangle is divided into four congruent triangles.
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